

PROCEEDINGS OF THE COCHIN DEVASWOM BOARD

Repairs and painting of Anjaneya guest house of Thiruvilwamala temple .

Read 1. Note from AE dt. 08-11-2023

- 2. Note from AEE dt. 20-11-2023
- 3. Note from EE dt. 20-11-2023
- 4. Decision of DC dt. 22-11-2023

Order on H1. 853/22 dt. 26-12-2023

As per the papers cited above an estimate of Rs. 4,50,000/- (Rupees Four lakh and fifty thousand only) is passed and sanction is accorded to execute the above work after inviting local quotations.

The sealed quotations should be received in this office on or before 04-01-2024 at 3 P.M. and will be opened at 3.30 P.M. on the same day in the presence of Executive Engineer, Cochin Devaswom Board/higher officials of Cochin Devaswom Board, Thrissur.

The sealed quotations should be addressed to the Executive Engineer, Cochin Devaswom Board, Thrissur and should contain the PAN number of the quotationer.

A copy of the estimate along with notification is herewith forwarded to Devaswom commissioner Devaswom Assistant Commissioner, Thiruvilwamala for exhibiting in their office Notice boards.

(By Order)

Sd/-S. Gopakumar Assistant Engineer

То

Notice Board, AC- Thiruvilwamala CA to DC, EE, AEE, AE, S.F,

//Approved for issue//

Junior Superintendent

EST NO:2023/20975

TS Register No: 3207/2023-2024 AS Register No: 3383/2023-2024

Repairs and painting of Anjaneya Guest house of Thiruvilwamala temple Abstract Estimate

	1 Painting	
1	od225760/2023_2024 Dismantling and removing Mangalore tiles over roofs including ridge bordering but excluding roof timber and stacking materials within a	
	Net Total Quantity	131.600 sqm
	Say 131.600 sqm @ Rs 878.78 / sqm	Rs 115647.45
2	15.31 Dismantling tiled roofing with battens, boarding etc. complete includin and disposal of unserviceable material within 50 metres lead.	ng stacking of serviceable mater
	Net Total Quantity	44.000 sqm
	Say 44.000 sqm @ Rs 176.54 / sqm	Rs 7767.76
3	od226058/2023_2024 supplying and new fixing Anjily wood reapers of size 50mm x 25mm and conveyance of materials etc.complete.	with wire nails including cost a
	Net Total Quantity	0.205 cum
	OtherSay 0.205 cum @ Rs 108923.21 / cum o	ns Rs 22329.26
4	od226074/2023_2024 Supplying and stacking M.P ridge tile including cost and conveyance c	harge etc complete
	Net Total Quantity	60.000 each
	Say 60.000 each @ Rs 45.30 / each	Rs 2718.00
5	od226075/2023_2024 Supplying and stacking M.P Roofing tile including cost and conveyanc	e charge etc complete
	Net Total Quantity	500.000 each
	Say 500.000 each @ Rs 31.36 / each	Rs 15680.00
6	od226076/2023_2024 Roofing with existing MP tiles including labour charges etc.complete.<	br>
	Net Total Quantity	175.500 sqm
	Say 175.500 sqm @ Rs 69.85 / sqm	Rs 12258.68
7	od226077/2023_2024 Setting M.P hip and ridge tiles set in lime mortar 1:2 including fin materials labour charges and conveyance charges.etc.complete.	ishing edges including all cost
	Net Total Quantity	30.100 metre

printed on 28-12-2023 10:11:04

Rs 7404.30	Say 30.100 metre @ Rs 245.99 / metre	
factureto give an even shade:C	13.98.1 Wall painting with plastic emulsion paint of approved brand and manu or more coats on old work	8
758.841 sqm	Net Total Quantity	
Rs 75626.09	Say 758.841 sqm @ Rs 99.66 / sqm	
re coats with spar varnish	13.113.2 Varnishing with varnish of approved brand and manufacture:One or mo	9
111.705 sqm	Net Total Quantity	
Rs 9708.28	Say 111.705 sqm @ Rs 86.91 / sqm	
cture ofrequired colour to give	13.99.1 Painting with synthetic enamel paint of approved brand and manufa even shade :One or more coats on old work	10
206.071 sqm	Net Total Quantity	
Rs 19391.28	Say 206.071 sqm @ Rs 94.10 / sqm	
	13.1.1 12 mm cement plaster of mix:1:4 (1 cement : 4 fine sand)	11
72.900 sqm	Net Total Quantity	
Rs 22897.16	Say 72.900 sqm @ Rs 314.09 / sqm	
	10.1 Structural steel work in single section, fixed with or without connectin fixing in position and applying a priming coat of approved steel prime Net Total Quantity	12
Rs 15193.50	Say 150.000 kilogram @ Rs 101.29 / kilogram	
de by the Engineer in charge. T x55mm) with EPDM seal compl	od225348/2023_2024 Providing & fixing Poly carbonate single wall plain sheet 2 mm thic charge and should be supplied in a single length of 12 M or as deci- sheets shall be fixed using self drilling/ self tapping screw of size (5.5 upto any pitch in horizontal / vertical / curved surfaces, but excluding and including cutting to size and shapes where ever required.	13
49.510 sqm	Net Total Quantity	2
Rs 54687.76	Say 49.510 sqm @ Rs 1104.58 / sqm	
18.0%	Service Tax @	
	Service Tax Amount	
68635.71	Service Tax Antiouni	1.000
68635.71 449945.71	Total with Service Tax Amount	

printed on 28-12-2023 10:11:04

PRICE

EST NO:2023/20975

Rounded Total Rs 4,50,000

Rupees Four Lakh Fifty Thousand Only

(Cost Index Applied for this estimate is 35.59%)

Other Engineering Organisations PRICE